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-.AB=BC=BE=5..AE=10.
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~DE=BF. B ' FC)=2BC=2.
. P9iliJE BFDE & VA7 IUiATE. ! T RES (=)
~BE=DF. 1 24.8% . (1)IEW:--AB//DC,
19.3ERA;--CE/OD,DE//AC, | ./ OAB=2 DCA.
- WU OCED & F47 Ui fE. ! -*AC -4} ~ DAB,
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S £COE=2D0R 1 --CE L AB,.~OE=0A=0C.
. ACOEx ADOF(ASA). | 1
- CE=DF. ; ~'BD=4,..0B=BD=2.
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(2)MA C=2A Bi, WWE EGCFRHTE.
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~OESE ANACCHIH A4k, O // CG.
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~A0=CO.
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22. %% : (1)t B S8 A PE I AT Ala=
2\ 2 ,b=5,c=V/17.
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2V 2 x\VIT _2\/34
5 =5 -

235 (DR ARV E 1%,
B 2 R EEA S22 HEMN B 25 600K
H.600<1 000,
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(2)--DE=DF, MU JE DEBFZ V17 PUilIE ,
~VUIIJEDEBFEZETE.
~.DE=BE,EF L BD,0E=0F.
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7_25

.'.DEZB—T—I.

E3IW



